6 FE BHEZEER - 175

ARTH (B) |EHEXEEHREY - KEES =R R B
4R13R () |sH6FEEEREREERTEHRES ihEH—F7 /8L R
4RF21R () |56 EFE2HARFREEFERS EpE Rl
48288 () |sEsBEZEAS EIERE
4829H |(B -f)|Sf6ELHAZTERFERS HAEELRE
5A6H (BIREW) |t X EmEE () #82 E—EH) [E-@H4/20 (1) | |[HEESRKESE
5118 (£) |F 1O FEEZEREEES =R R B
58128 (B) |£2BEXBExY1=T7EHEFES =ik R B
5H26H () |[BERAR—YREFZEFHFE (HEOH) BHWEFES =R R B
6A1H (1) |2BEXEHRAS EIERE
68308 (B) |sfM6&FE =it tBEFREKRES EFEERMT
7TH6H () |F20 FEEZEAEREES =19 R R
7TRTH () |2BEXBELY 2 =2 T7HERIRFHEHILLTES R ERE
TH27H (£) |?AbeAMLUESFERZERE =i R B
8 A23H () |HIHEEREREZERE (X8 WHEZEER
SHAZEEBNEB 7 1t 2B PR
S : (EfE : mAtZEER MEREES
X R~ N\EEHEERES (BEMmHREHEEE)
BB AERE RS TER
25H () |2HAFZEEBRNZEB 71 v ABH AR
97 -8 |(£- B)|2AXY 1= 7ELZEKEREFERS BE B EHERE
988H (B) |# 30 FEEFEAEEES =R B
RltsEERE O < =
SRLAR | B e wmn - bames (7] Ba PR IUEIE
A wemm|EETO Y 2 NPEATE RS S A
14H - 15H - 16H
9R148 () |C-#EEEXIEEEEKEEs 1HEB =R H B
9R15H (B) |C-#EEEXIEEEEKEEs 2HE =R HE R
98 29H (B) |&2FEAFA-B-CIEEEEHHFALTS =R H B
10R e et SAGAH > 5 4 R/s— 4
12-13- 148 E-8-0 | [BERAR—YARFTEHRK SAGAT U —+
10819H (£) |FAXLEE S ERZE E BB
108208 (B) |BHERAR—YASEZEFHRK =R B
118108 (B) |40 BEEZEFEEES =R B
118238 |(&£ - %) | #4000z EMAEERAES =8 AR
1818H (£) |SHTE2HABLAZEEFESHE F& =i B B
2H1H () |FE50 BEEZEREEES =8 AR
. _ BlxEaEgEREES w L
S e P T R A 5T REMT
3R15H () |BFEEEx (15:00) =R B
ARRE = SHM6FE4 A38 (k) ~sM7TE3I A268 (k)

Ehika ( 6/12, 10/16, 11/13, 11/20 )




